Esegui le equivalenze: misure di peso.

Mg 0,52 = kg

dg 838 = cg

mg 9 = dg

g 6=mg

Mg 0,3 = kg

mg 30 =g

dag 481 = hg

g 0,01 =dg

Kg 26 = Mg

hg 17,3 = kg

dag 0,04 =g

hg 1 =kg

dg 198 = cg

kg 2,94 = hg

cg395=g¢g

cg 2 =dg

g 181 = dag

Mg 2,2 = kg

hg0,7=¢g

Mg 0,47 = kg




Eseqgui le equivalenze: misure di peso.

dag 1,1 = kg

Kg 3,2 = hg

Mg 29 = Kg

g 105 = kg

g9,1=nhg

Mg 45,1 = hg

cg 848 =mg

hg84 =g

dag 19 = cg

Kg 0,23 =g

g 8 =dg

g 955 =dag

mg 734 =g

kg 86,5 = dag

cg 8 =mg

cg 60 = mg

Mg 0,34 = Kg

Kg0,72 =g

hg 2,29 = dag

dag 0,83 = dg




